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Encode(vs ...interface{}) ([]byte,

Encodelnt (i int) []byte
Encodel nt8(i int8) []byte
Encodel nt 16(i int16) []byte
Encodel nt 32(i int32) []byte
Encodel nt 64(i int64) []byte
EncodeUint (i uint) []byte
EncodeUi nt8(i uint8) []byte
EncodeUi nt 16(i uint16) []byte
EncodeUi nt 32(i uint32) []byte
EncodeUi nt 64(i uint64) []byte
EncodeBool (b bool) []byte

EncodeFl oat 32(f float32) []byte
EncodeFl oat 64(f float64) []byte

EncodeString(s string) []byte

Decode(b []byte, vs ...interface{}) error

DecodeTol nt (b []byte) int
DecodeTol nt8(b []byte) int8
DecodeTol nt 16(b []byte) int16
DecodeTol nt32(b []byte) int32
DecodeTol nt 64(b []byte) int64
DecodeToUi nt (b []byte) uint
DecodeToUint8(b []byte) uint8

DecodeToUi nt 16(b []byte) uint16
DecodeToUi nt 32(b [] byte) uint32
DecodeToUi nt 64(b []byte) uint64

DecodeToBool (b []byte) bool

DecodeToFl oat 32(b []byte) float32
DecodeToFl oat 64(b []byte) float64
DecodeToString(b []byte) string

EncodeBits(bits []Bit, i int,
EncodeBitsWthUint(bits []Bit,
EncodeBi t sToBytes(bits []Bit)
DecodeBits(bits []Bit) uint

DecodeBitsToUint(bits []Bit) uint
DecodeByt esToBits(bs []byte) []Bit

Bit int8

error)

int) []1Bit
uint, |
[1byte
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package main

inmport (
"f ot
" gi t hub. conf gogf/ gf / v2/ encodi ng/ gbi nary"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"
"gi t hub. conf gogf/ gf / v2/ os/ gl og"

func main() {
/1 gbinary. Encoded
if buffer := gbinary.Encode(18, 300, 1.01); buffer !'= nil {
/1 glog.Error(err)
} else {
frmt.Println(buffer)
}

/1 gbinary. Decode
/1 int8/16/32/64uint8/ 16/ 32/ 64f| oat 32/ 64
/1 1.01f | oat 64(64)
if buffer := gbinary. Encode(18, 300, 1.01); buffer !=nil {
/1glog.Error(err)
} else {
var il int8
var i2 intlé
var f3 float64
if err := gbinary. Decode(buffer, & 1, & 2, & 3); err I=
nil {
gl og. Error(gctx. New(), err)
} else {
fmt.Println(il, i2, f3)
}
}

/1] int

fmt. Println(gbinary. DecodeTol nt (gbi nary. Encodel nt(1)))

fmt. Println(gbinary. DecodeTol nt (gbi nary. Encodel nt (300)))

fm . Println(gbinary. DecodeTol nt (gbi nary. Encodel nt (70000)))

fmt. Println(gbinary. DecodeTol nt (gbi nary. Encodel nt (2000000000)))
fmt. Println(gbinary. DecodeTol nt (gbi nary. Encodel nt (500000000000)))

Il | uint

fm . Println(gbinary. DecodeToUi nt (gbi nary. EncodeUi nt(1)))

ft. Println(gbinary. DecodeToUi nt (gbi nary. EncodeUi nt (300)))
fmt.Println(gbinary. DecodeToUi nt (gbi nary. EncodeUi nt (70000)))

fm . Println(gbinary. DecodeToUi nt (gbi nary. EncodeU nt (2000000000)))
fmt. Println(gbinary. DecodeToUi nt (gbi nary. EncodeU nt (500000000000)))

/1 | int8/16/32/ 64

ft. Println(gbinary. DecodeTol nt 8(gbi nary. Encodel nt 8(i nt8(100))))
fm . Println(gbinary. DecodeTol nt 16(gbi nary. Encodel nt 16(i nt 16(100))))
ft. Println(gbinary. DecodeTol nt 32( gbi nary. Encodel nt 32(i nt 32(100))))
fmt. Println(gbinary. DecodeTol nt 64(gbi nary. Encodel nt 64(i nt 64(100))))

/1 | uint8/16/32/64

fmt. Println(gbinary. DecodeToUi nt 8(gbi nary. EncodeU nt 8(ui nt8(100))))

frt. Println(gbinary. DecodeToU nt 16( gbi nary. EncodeUi nt 16( ui nt 16
(100))))

ft. Pr
(100))))

ft. Pr

(100))))

ntl n(gbi nary. DecodeToUi nt 32( gbi nary. EncodeUi nt 32( ui nt 32

ntl n(gbi nary. DecodeToUi nt 64( gbi nary. EncodeUi nt 64( ui nt 64

Il | string

frt. Println(gbinary. DecodeToSt ring(gbi nary. EncodeString("l'm
string!")))
}
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package main

inmport (
"t
"gi t hub. conf gogf / gf / v2/ encodi ng/ gbi nary"

func main() {
/1 0:, 1:, 2: 3:

count := 100
status :=1
11
bits := make([]gbinary.Bit, 0)
for i :=0; i < count; i++ {
bits = gbinary. EncodeBits(bits, int(status), 2)
}
buffer := gbinary. EncodeBitsToBytes(bits)
fnt.Println("buffer length:", len(buffer))
[* 1 *
11
alivecount := 0
sensorbits : = ghinary. DecodeByt esToBits(buffer)
for i :=0; i < len(sensorbits); i += 2 {
if gbinary. DecodeBits(sensorbits[i:i+2]) == 1 {
al i vecount ++
}
}
fm.Printin("alived sensor:", alivecount)

buffer length: 25
alived sensor: 100

10025byte100
2. gkvdbMETA

gkvdbGoFr aneDRHKey- Val ue

[ 64(64bit, 8byte) (8bit,lbyte) (24bit,3byte) (40bit,5byte)]()

/

github.com/gogf/gf/v2/blob/master/.example/encoding/gbinary/bits2.go
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package main

inmport (
"t
"gi t hub. conf gogf / gf / v2/ encodi ng/ gbi nary"

func main() {
/1 Meta[64(64bit,8byte) (8bit, lbyte) (24bit,3byte) (40bit,5byte)]

0

hash 1= 521369841259754125

kl en =12

vl en 1= 35535

of fset := 80000000

11

bits ;= make([]gbinary.Bit, 0)

bits = gbi nary. EncodeBi t s(bits, hash, 64)

bits = gbi nary. EncodeBi ts(bits, klen, 8)

bits = gbi nary. EncodeBi ts(bits, vlen, 24)

bits = gbi nary. EncodeBi ts(bits, offset, 40)

buffer := gbinary. EncodeBitsToBytes(bits)

fm.Printin("meta length:", len(buffer))

[* | *

11

nmetabits : = gbinary. DecodeByt esToBi ts(buffer)

fmt.Printin("hash :", gbinary.DecodeBits(netabits[0 : 64]))

fm.Printin("klen :", gbinary.DecodeBits(netabits[64 : 72]))

fmt.PrintIn("vlen :", gbinary.DecodeBits(nmetabits[72 : 96]))

fm.Printin("offset:", gbinary.DecodeBits(netabits[96 : 136]))
}

meta | ength: 17

hash : 521369841259754125
klen : 12

vien : 35535

of f set: 80000000
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